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Polímero poliol 1000 g/mol Poliol DMPA IPDI TEA BD

(mmol) (% mol) (% wt)

PUPCL5 45 22 113 30 27 38 16.9 4.66

PUPCL7 45 22 113 30 16 60 26.5 7.25

PUPCL10 45 22 113 30 5 82 36.3 9.77

Polímero poliol 2000 g/mol Poliol DMPA IPDI TEA BD

(mmol) (% mol) (% wt)

PUPCL2000 45 22 113 30 5 82 36.3 6.29

PUPCL2000EST 40 32 113 30 0 82 36.3 6.78

FAM

(mmol)

(mmol)

FAM
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𝑝 = 1 − 
𝐴𝑡

𝐴0
    (𝟏)

Muestra Tg (ºC) Tm (ºC)

Poliol 1000 Da -32 34

Poliol 2000 Da -35 45

PUPCL10 -26 -

PUPCL7 -28 -

PUPCL5 -25 -

PUPCL2000EST -28 42
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𝑑𝑝

𝑑𝑡
= 𝐾(1 − 𝑝)𝑛     (𝟏)

 

Muestra Constante de velocidad (10-2 min-1)

PUPCL10 4.21

PUPCL7 4.34

PUPCL5 4.63

PUPCL2000EST 4.50
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Sistema t0 DA rDA

PUPCL10 0 0.82 0.45

PUPCL7 0 0.49 0.30

PUPCL5 0 0.91 0.57

PUPCL200EST 0 0.84 0.49

Conversión

Mn (g/mol) Mw (g/mol) PD

PUPCL10 3500 6500 1.9

DA 4900 13250 2.7

rDA 3650 8700 2.4

PUPCL2000EST 5600 10450 1.9

DA 16200 33000 2.0

rDA 9200 16850 1.8
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